BOQ / Price Bid

Name of work: Construction of one number of security booth at 132kV Dhekiajuli GSS, AEGCL.

NIT No:-AEGCL/DGM/TTC/TEZ/T-20/2022/185 Dated 21/09/2022

Sl. No.	Description of Item	Qnty	Unit	Rate	Amount
1	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30cm in depth, 1.5 m in width aswell as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and lift upto 1.5 m, as directed by Engineerincharge. (All kind of soil).	2.70	cum	205.45	554.72
2	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level.	27.91	sqm	1018.05	28,413.78
3	Brick work with common burnt clay modular bricks of class designation 7.5 in foundation and plinth in:	1.00	cum	5549.95	5,549.95
4	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.	2.97	cum	2161.2	6,418.76
5	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level.	0.11	cum	6833.40	751.67
6	Providing and laying damp-proof course 40mm thick with cement concrete 1:2:4 (1 cement : 2 coarse sand (zone-III) derived from natural sources : 4 graded stone aggregate 12.5mm nominal size derived from natural sources)	1.50	sqm	370.85	556.28
7	Centering and shuttering including strutting, propping etc. and removal of form for	22.24	sqm	307.95	6,848.81
8	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete above plinth level.	200.84	Kg	89.65	18,005.31
9	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:	1.54	cum	8364.2	12,880.87
10	CEMENT PLASTER (IN FINE SAND) 12 mm cement plaster of mix :	50.34	sqm	361.30	18,187.84

	·				T
11	62 mm thick cement concrete flooring with concrete hardener topping, under layer 50 mm thick cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20mm nominal size) and top layer 12mm thick cement hardener consisting of mix 1:2 (1 cement hardener mix : 2 graded stone aggregate, 6mm nominal size) by volume, hardening compound mixed @ 2 litre per 50 kg of cement or as per manufacture's specifications. This includes cost of cement	4.84	sqm	928.65	4,494.67
	slurry, but excluding the cost of nosing of steps				
	etc. complete.				
12	Two track two panels sliding window made of (small series) frame $52 \times 44 \text{ mm \&sash } 32 \times 60 \text{ mm both having wall thickness of } 1.9 \pm 0.2 \text{ mm}$ and single glazing bead of appropriate dimension. (Area of window upto 1.75 sqm)	7.28	sqm	7634.1	55,576.25
13	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length (hold fast lugs or dash fastener shall be paid for separately). 9.1.3 Kiln seasoned and chemically treated hollock wood	0.06	cum	74199.7	4,451.98

14	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows, fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-incharge.(Butt hinges and necessary screws shall be paid separately) Second class teak wood 30 mm thick shutters	4.20	sqm	3360.7	14,114.94
15	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	45.36	sqm	123.85	5,617.84
16	Finishing walls with water proofing cement paint of required shade :Old work (one or more coats applied @ 2.20 kg/10 sqm) over priming coat of primer applied @ 0.80 litrs/10 sqm complete including cost of Priming coat.	45.36	sqm	94.15	4,270.64
17	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position andapplying a priming coat of approved steelprimer, including welding andbolted with special shaped washers etc. complete.	432.98	kg	111.95	48,472.11
18	Providing corrugated G.S. sheet roofing including vertical / curvedsurface fixed with polymer coated J or L hooks, bolts and nuts mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	14.96	sqm	978.00	14,630.88
19	Providing ridges or hips of width 60 cm overall width plain G.S. sheet fixed with polymer coated J or L hooks, bolts and nuts 8 mm dia G.I. limpet and bitumen washers complete.	11.48	metre	750.85	8,619.76

20	Providing and fixing false ceiling at all height				
	including providing and fixing of frame work				
	made of special sections, power pressed from				
	M.S. sheets and galvanized with zinc coating of				
	120 gms/sqm (both side inclusive) as per IS:				
	277 and consisting of angle cleats of size 25				
	mm wide x 1.6 mm thick with flanges of 27 mm				
	and 37mm, at 1200 mm centre to centre, one				
	flange fixed to the ceiling with dash fastener				
	12.5 mm dia x 50mm long with 6mm dia bolts,				
	other flange of cleat fixed to the angle hangers				5,546.40
	of 25x10x0.50 mm of required length with nuts				
	& bolts of required size and other end of angle	4.84	sqm	1145.95	
	hanger fixed with intermediate G.I. channels	4.04			
	45x15x0.9 mm running at the spacing of 1200				
	mm centre to centre, to which the ceiling				
	section 0.5 mm thick bottom wedge of 80 mm				
	with tapered flanges of 26 mm each having lips				
	of 10.5 mm, at 450 mm centre to centre, shall				
	be fixed in a direction perpendicular to G.I.				
	intermediate channel with connecting clips				
	made out of 2.64 mm dia x 230 mm long G.I.				
	wire at every junction, including fixing				
	perimeter channels 0.5 mm thick 27 mm high				
	having flanges of 20 mm and 30 mm long, the				
	perimeter of ceiling fixed to wall/partition with				

2,63,963.46